

CATALOGUE 2023



HELLO!

CONTENTS

Designed by Islay was born out of a love of an eclectic selection of passions; type design, colour and the Scottish language. Inspired by sayings my mother and grandmother used to say, I started creating colourful greeting cards and art prints of inspirational Scottish quotes beautifully set in contemporary type, focusing on the positive.

The collection continues to grow and includes my own original sayings and a unique range of illustrated Wild Swimming and Stand Up Paddle boarding greeting cards, prints and mugs, digitally created using layers of paper textures.

I am very focused on sustainability and all my products are printed in the UK and on FSC accredited recycled paper stock (cards have the logo printed on them) and come with 100% recycled Kraft envelopes or are backed with 100% recycled grey card. All printed products are packaged in bio-degradable and compostable cello wrappers.

If you have any queries please don't hesitate to get in touch.

hello@designedbyislay.co.uk

ISLAY





A6 CARDS	04
A5/A4/A3 ART PRINTS	80
Christmas Cards	14
Christmas Tree Ornaments	15
MUGS	16
WILD SWIMMING DESIGNS	18
SUP PRINTS	20
ORDERING	21

ΛΚ ΓΛΟΝ Ο	RPR	WHOLESALE	No. per case	Cost per case
A6 CARDS	£3	£1.20	6	£7.20

- Printed in the UK on FSC certified stock (with accreditation logo)
- 100% recycled kraft brown envelope
- Wrapped in a bio-degradable compostable film (optional)





LANG MAY YER LUM REEK.

A6NY012











VALENTINES / ANNIVERSARY



A6015

A6029

A6011

A6016

A6027





MOTHERS' & FATHERS' DAY



NEW HOUSE



ANY OCCASION







ART PRINTS

- Printed in the UK on FSC certified stock
- Backed with a 1mm =100% recycled grey card
- Wrapped in a bio-degradable compostable film

Art Prints come in A5, A4 and A3 sizes.

Size	RPR	WHOLESALE	No. per case	Cost per case
A5	£8	£3.20	3	£9.60
A4	£14	£5.60	3	£16.80
A3	£18	£7.20	3	£21.60

Prints are sold in cases of 3

1





BEAUTY

A5082 | A4127 | A3148

WHERE ERE

YE BE.

WIND

GANG

FREE

LET YER

A5076 | A4121

HAME

HAME

BEST Seller







BEST Seller







A5047 | A4092 | A3133





A5054 | A4099 | A3137















MONY

MAKS

MICKLE

MUCKLE.

А

Α

TAPS AFF also available in double sided with TAPS OAN on the reverse.

Size	RPR	WHOLESALE	No. per case	Cost per case
A5	£12	£4.80	3	£14.40
A4	£18	£7.20	3	£21.60

Product Code: A5071 | A4116





A5052 | A4097



Let me tell you that / love you That / think about you all the time SELLER Friendship is like whisky, the older the better

A5077 | A4122

My love is like

the melody That's

sweetly

A5055 | A4100

I AM FIERCE I AM FICKLE

FUN & FANTASY I AM FEARLESS

I AM FRAGILE

I AM FULL OF FEELING & AFFECTION

I AM ME

A4152 | A3156

played in tune

A5043 | A4088 | A3131

Whisky is sunlight held together by water

A5078 | A4123

I AM CREATIVE I AM CARING I AM CARING CURIOSITY & CONTRADICTION I AM COURAGEOUS I AM CAUTIOUS I AM CAUTIOUS I AM CAUTIOUS

I AM ME

A4151 | A3155

I AM POWERFUL I AM PLAYFUL IMITULOF POSSIBILITY & PASSION I AM PATIENT I AM PERSISTENT IMITULOF PRIDE & PURPOSE I AM WILFUL I AM WONDERFUL I AM FULL OF WARMTH & WIT I AM WEIRD I AM WILD I AM WILD I AM FULL OF WORTH & WISDOM

A4154 | A3158

Some hae meat and canna eat, and some wad eat that want it; but we hae meat, and we can eat, Sae let the lord be thankit.

A5061 | A4106

Let me tell you that I love you That / think about you all the time

JOLA MADAN CANADA

A4153 | A3157

CHRISTMAS

A6 CARDS

RPR	WHOLESALE	No. per case	Cost per case	BEST
£3	£1.20	6	£7.50	SELLERS

- Printed in the UK on FSC certified stock (with accreditation logo) ٠
- 100% recycled kraft brown envelope .
- Wrapped in a bio-degradable compostable film (optional) ٠







TREE ORNAMENTS

RPR	WHOLESALE	No. per case	Cost per case	BE
£7.50	£3	6	£18	s Sell

Laser cut in the UK ٠ 3mm Poplar Ply .





- 100 x100mm ٠
- Ribbon is woven into the design •
- Comes with a wooden hoop for hanging ٠
- ٠ Supplied with random ribbons

CS038



CS037

- 100mm x 105mm •
- Supplied with random ties

NEW! 办 충 CIN B \$ 000 0000000000

CS166

- 100mm x 90mm .
- Supplied with random ties



RPR	WHOLESALE	No. per case	Cost per case
£12.50	£6.50	3	£19.50

- 11oz ceramic Durham mugs
- Dishwasher-proof
- Microwave safe and food safety certified by SGS



WILD SWIMMING MUGS





MG161

MG162

FUR

MG164

TYPOGRAPHIC MUGS







WILD SWIMMING

- Printed in the UK on FSC certified stock
- Backed with a 1mm, 100% recycled grey card
- Wrapped in a bio-degradable compostable film

Size	RPR	WHOLESALE	No. per case	Cost per case
A6 card	£3.50	£1.40	6	£8.40
A5	£9	£3.60	3	£10.80
A4	£14	£5.60	3	£16.80
A3	£18	£7.20	3	£21.60

A5/A4/A3 ART PRINTS



A5081 | A4126 | A3147

A6 CARDS



A6026



A6025

A5080 | A4125 | A3146

 Printed in the UK on FSC certified stock (with accreditation logo)

- 100% recycled kraft brown envelope
- Wrapped in a bio-degradable compostable film (optional)









SUP (STAND UP PADDLE BOARDING)

Size	RPR	WHOLESALE	No. per case	Cost per case
A5	£9	£3.60	3	£10.80
A4	£14	£5.60	3	£16.80
A3	£18	£7.20	3	£21.60

- Printed in the UK on FSC certified stock ٠
- Backed with a 1mm, 100% recycled grey card
- Wrapped in a bio-degradable compostable film

A5/A4/A3 ART PRINTS











ORDERING

ORDERS

Please email your order, including SKU, your full contact and delivery details to orders@designedbyislay.co.uk

- Minimum opening order requirement of . £75 and re-order minimum of £50.
- Payment required in full before order ٠ can be shipped, an invoice will be issued when items are ready to dispatch.
- ٠ We aim to ship all orders in full within 3 weeks of order.

DELIVERY

- We try to be as sustainable as possible using recycled materials and eco-friendly packaging wherever possible.
- Fixed fee of £10 for shipping and handling. If you require a delivery split it will an extra £5 per split.
- Free carriage on orders over £150. If you require a delivery split, charges may still incur.

PAYMENT

- All new customers will be issued with an invoice when the order is ready for dispatch. No orders will be dispatched without payment in full.
- Existing customers will have 28 days to ٠ pay invoice in full.
- Payments accepted by bank transfer. ٠

TERMS AND CONDITIONS

- If payments are late 3 times, we will require payment in full prior to dispatch on any subsequent orders.
- Any damaged goods should be returned within 7 days of receiving the order. Designed by Islay will replace or issue a full refund. All goods remain the property of Designed By Islay until such time as they are paid for.
- All designs are the original work of Islay Brown of Designed By Islay and are protected by copyright. In the event of any unauthorised copying Designed By Islay are entitled to take legal proceedings against the customer, wholesaler or manufacturer.
- It is our priority to deliver the highest guality of service to all our customers. Please let us know if you run into any problems and any feedback on how we can improve in the future would be appreciated.
- All prices and information is correct as • of Jan 2023.

PRICE BREAKS

We offer price breaks on greeting cards starting at quantities of 500 per SKU. Please get in touch to discuss.

A5070 | A4115

A5069 | A4114

www.designedbyislay.co.uk



orders@designedbyislay.co.uk



(O) @designedbyislay